ANSWER TO "TRY YOURSELF" PROBLEM FROM STUDY SECTION 9.2

Try Yourself 9.2a
Calculate the pH of a buffer solution with 0.5 mol/L HCOOH and 0.7 mol/L HCOO". K, for formic acid (metanoic
acid) = 1.8 x 10




Try Yourself 9.2b
You which to prepare 1000 mL of a buffer solution with a pH of 10.50

A list of possible acids (and their conjugated bases) follows:

Conjugate base K
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Hydrogen sulfide (H,S) Hydrogen sulfide ion (HS)  1x 107

Hydrogen carbonate ion (HCOs") Carbonate ion (COs%) 48 x 101

Which combination should be selected and what should be the ratio of acid to conjugate base?

Answer:




